
ah]6 pk–zLif{s g+= M– #^%*%@# l;df If]q ljsf; sfo{qmd 

ah]6 pk–zLif{ssf] gfd  M– #^%*%@# rfn" vr{ tkm{ sfof{nosf] sf]8 g+= ##÷#^%÷@$

yk 36 /sd g+= yk 36 lgsf;f ah]6

22311 sfof{no ;DalGw vr{ 40,000.00                    -               -  -   -    -    40,000.00         40,000.00             40,000.00                -    -                    

22412 cGo ;]jf z'Ns 325,000.00                   325,000.00        325,000.00            325,000.00               -                    

22611 cg'udg tyf d"Nof+g vr{ 40,000.00                    40,000.00         40,000.00             40,000.00                -                    

22711 ljljw vr{ 40,000.00                    40,000.00         40,000.00             40,000.00                -                    

26312 :yfgLo lgsfo ;zt{ rfn" cg'bfg 1,881,000.00                1,881,000.00     1,881,000.00          1,880,137.00             863.00                

s'n hDdf /sd 2,326,000.00                 -      -    2,326,000.00      2,326,000.00     2,325,137.00         -    863.00                

df}Hbftsf] cj:yf 
!= a}+ssf] gfd / 7]ufgf M– Pg=cfO{=;L Plzof a}+s ln= af/f, sn}of @= a}+s vftf gDj/ M 58CA499209524002 rfn" vr{

#= a}+s cg';f/ af“sL /sd ?= 0.00 $= km5\of{}6 x'g af“sL k]ZsL ?= -    

%= gub df}Hbft ?= 0.00 s= ut cfly{s jif{ ;Ddsf] ?= 0.00

^= hDdf jf e'QmfgL x'g af+sL r]ssf] /sd ?= v= o; cfly{s jif{sf] ?= 0.00

hDdf ?= 0.00

tof/ ug{] :jLs[t ug{] 

x:tfIf/ x:tfIf/ 
gfd M åfl/sf s'df/ rf}w/L gfd M >L uf}/L ;fx 

bhf{ M ;x n]vfkfn bhf{ M lg=k|=k|= clws[t 

ldlt M ldlt M 

                                                g]kfn ;/sf/                                         d=n]=k=kmf=g+=17

kr/f}tf gu/kflnsf
kr/f}tf gu/ sfo{kflnsfsf] sfof{no, a]gf}nL, af/f

cfly{s jif{ 2074/075 sf] jflif{s cfly{s ljj/0f 

vr{ ;+s]t 
gDj/ 

vr{ zLif{s z'? ljlgof]lht ah]6 
k'/s jh]6 /sdfGt/af6

clGtd jh]6 lgsf;f vr{{
jf+sL

s}lkmot


